Subject: TLB_GET_SIZE - strangeness!
Posted by kotsines on Fri, 02 Jun 1995 07:00:00 GMT

View Forum Message <> Reply to Message

On the topic of re-sizing, can anyone explain the following:
> B = WIDGET_BASE( title = 'testing')
> WIDGET_CONTROL, B, /REALIZE
(re-size B to arbitrary size via the mouse)
> WIDGET_CONTROL, B, TLB_GET_SIZE = size
> print, size
209 273
> help, size
SIZE INT = Array(2)
> print, size(0)
021
> help, size(0)

<Expression> LONG = Array(3)

...am | missing something? How can | access the two integer elements of size?

Confused,
Tom
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